DUT Axis 2 DVM Meas

N

macmw<mHmWﬁ< of Tulsa
1600 0.0034/°/s DB/FRM
'PtCt = 27 ' Red=upward,
X={-720.1 to 731.9) A
Y={.1786 to 4.822} '
|Polynomial Fit: Green Curve
[0: +2.50051E+00 Offset (V at 0'°/s)
'1: +3.51743E-03 Gain  (V per °/s)
EMax -2.014E-03 Maximum error from fit (V)

|EAvg +6.454E-04 Average error from fit (V)

Blue=downward

Aﬁm.Wu‘wq“ommmnop Std Dev error from fit (V)
|Correl 1.000000 Quality of fit| (0 low,
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312068 1651A00047 Ax2 V vs Rate NIST 30Mar1 08:55:03 to 30M

ar11 09:00:51 07 hrs]
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|PtCt = 27

@

DUT Axis 3 DVM Meas

University of Tulsa
600 0.0034/°/s DB/FRM
. Red=upward, Blue=downward
X={-720 to 731.9}
Y={.2052 to 4.791}
Polynomial Fit:
0: +2.49821E+00 Offset
1: +3.47405E-03 Gain
|EMax -2.221E-03 Maximum
EAvg +6.761E-04 Average

|Correl 1.000000 Quality

312068 1651A00047 Ax3Vvs Rate NIST 30Mar11 09:09:25 to 30Mar11 09:15:11 [096 hrs]

Green Curve
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DUT Axis 1 DVM Meas

N
b

University of Tulsa

600 0.0034/°/s DB/FRM

PtCt = 27

X={-720.1 to 731.9}
Y={.1587 to 4.835}

Polynomial Fit:
0: +2.49707E+00
1: +3.54244E-03
EMax -1.964E-03
EAvg +7.366E-04

Correl 1.000000

Green Curve

Offset (V at 0 °/s)
Gain (V per °/s)
Maximum error from fit

Average error from fit

Quality of fit, (0 low,

312068 1651A00047 Ax1 V vs Rate NIST 30Mar11 08:41:04 to 30Mar 1 08:46:49 [.096 hrs

Red=upward, Blue=downward |
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